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1) For each function, fill in the table of information and then graph two cycles of the transformed function
using transformations of the parent function. Choose an appropriate scale.
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b) y = —3cos (%x)
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¢)y = 4sin [3 (ﬁj—g)] -2

CHla| = =244 =&

Amplitude: Period: e 21
-l < kl© 3
Phase shift: Vertical shift:
’%’ to gt RIGHT o pPwN
Max: Min:

C-tat= "%=4 3 -6

W= SWK W= Ysin [3(x- %)j ~
3 T
& y i “b\ =3
O G x| " b |
Az | %™ 2
o ) vl -
3’7;,1 - S'\'/‘, - é
4 O ‘% TR -~
(A
\l
42
’ \
' \
! 3
-1 ‘3,_.'21 54 - | 21




d)y=25in[%(x+§6£)]+4
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2) Model each graph shown as a sine and cosine function.
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3) A sine function has a maximum value of 7, a minimum value of -1, a phase shift of%7T radians to the left, and
a period of g

_.y Write an equation for this function.
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b) Write an equivalent cosine equation for this function.
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.4 A cosine function has a maximum value of 1, a minimum value of -5, a phase shift of 2 radians to the right,
and a period of 3.

a) Write an equation for this function.
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b) Write an equivalent sine equation for this function.
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